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Lesson |:

We are showing the elves how to

OUr Wil Vo)

calculation.

Father Christmas is triying to teach his elves
written metho.ds .of calculation.

He needs .o fantastic example of addition,
subtroction, multiplication and division to help

them .along.




|. Choose the level of question to .answer.
2. Answer in your hook, then check syour answer

15 cCOrrech

3. CHOOSE ONE EXAMPLE OF EACH CALCULATION
and write your written method up .os clearly

and neatly .os possible in the correct section

on the paper provided.



First - we need to practice.

[ Column Method |

uared paper to write
the numbers in column

@% Addition @
)
=)

+

76 + 47 =123

) 493 2) 302+158
+|56 3) 4L 32+122
4) 545+235

% Subtraction @
v/

Compact
Decomposition
11 14
224 @)
169 o
155

324 - 169= 155 .

[) 589+]|3
2)675+382
3) 456+]23

1) 624 2) 387-257
—156  3) 442-122
4) 655-235

4) 15]1+239

[) 2568+654]
2) 5438+4597

3) 6213+7513
4)I2 365+6245

[) 582-113

2)675-387
3) 456+173
L4) 95|+259

[)8452 - 182]
2)7005-2883

3)4012-22919




56 X 27 = 1512 ./

[) 125 x 24
2) 406 x 22
SN2
L) 469 x 2|

[) 125 x 45
2) 846 x 56

3) 812 x 98
) 507 34




Self E~valuation
Pop a star by the calculation
that you would like to focus
on improwxing next year - 202]!



Lesson 2: WALT = a

At the start of December, there were What .could
543 toy cars in Santa.s w.orkshop. the WJ’L
bhe?
During December,
® 2|/ .more cars were .made
® 622 toy cars were given as presents. What
information
do you know .

What do we .need
to do?

1)

2)

2 marks



WALT solve multi-step problems

[) .addition

Choose from
the categories. .
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a ACTIVITY |
" Factors and Mudtiples Chain Game | w. "torsang,,
Play as a class. i ot vt Ples Game
- "iunghas . inq Niumbe, and the 4
* Plage, ing “Aare bejg,,




Common Factors




ACTIVITY 5% = ACTIVITY 6
: : _ ﬁ & (“cg -
u;"‘; 778 91 l00g & ~
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10128
s T
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puMBEREC : '!““‘;‘hws\ﬂ wabel )
2 1060
300
o a6
iogo
609
%0 o~
X
g 706
80 '%
oo
500
£ o0
100
lop U . |
F Number
% %0 lsing Bonds
80g

Eloise EIf s struggling Lo work out the following calculation,

(R EX SRR ERE R R R

Missing number bond
&0 W

e Add 297 and 60.

B ACTIVITY 9
2, ¥

+ 801 = 1000 506 + = 1000 Mrs Claus is trying to help her:

+ 22 = 1000 s 69 4 = 1000

/297.+60 =300+57

= 1000 6+ 208 = 1000 =
4 830 =1000 72 4 __ = 1000 T
A
She says the answer is this: —
582 + __ = 1000 i+ 415 = 1000
7 + 60 = 357 L
s & 700 m 3000 A0 w00 G e —

Write down what Mrs Claus could say to Eloise Fif to help her

ACTIVITY 7
C VI understand. Think of more examples to help her understand. Can

4848450854000 0044 184548484954 84444 you use diagrams or place value counters to help you explain?

A WP R A > A R W M T W W W
+



** How many solutions

can you fnd?

** How will you krow that

youL have found ALL the

solutions?

** Repeat hut can you make Create you omi:

8, 9 or II? numhber honds
to 20, 50, 100









Calculate the perimeter.




White
Perimeter on a grid . o Which of the hexagons has the greatest perimeter?

Show all your workings.
A B

Ttem [T 17 Jrem
@ Work out the perimeter of each rectangle. Reason: 1b, 2, 5,7

) Trem
Shape ___ has the greatest perimeter.
b)
Ttem €D braw two different rectangles with a perimeter of 14 cm.
o Work out the perimeter of the shape. ° ‘Work out the perimeter of the rectangle.

. i 1o
9 Trem

g — —

o A shape is drawn on a square grid.

@ Drow two shapes with a perimeter of 20 cm. pare of.the shops is niddan

Your shapes should not be rectangles. Tem ]

|cm1

What could the perimeter of the shape be?

PR o

& Wt fose Mot 2918

(

i



Perimeter on a grid = o Which of the hexagons has the greatest perimeter?

- ANSWERS

Jtem [T T] J1em

o Work out the perimeter of each rectangle.

a)
Shape A hos the greatest perimeter.
b) I1 cm - E s s
@ Work out the perimeter of the shape. @ Work out the perimeter of the rectongle.
1em | 1em ]

o A shape is drawn on a square grid.

Part of the she is hidden.
© brow two shapes with o perimeter of 20 cm. Q shape is hidden

Your shapes should not be rectangles. 1an I
e9

]

What could the perimeter of the shape be? @

Is there more thon one answer? @




Plenary

o Work out the perimeter of the shape.

tem I || HEEEE

H.omw L wWork it out?

(@

Discuss



Le

sson 3

WALT: calculate the peri

Have a think ®

14 cm




WALT: ' of r

/ 2) Have a think m \

1)
6cm 14 cm

9 cm

22 cm

2cm
\ 40 cm /

If you correctly answered all of the mega

challenge question, mowve on to the class
questions.

If you did not answer all the mega challenge
correctly, stay with me to learn more.

Class questions - see next slide!
REASON AND PEER MARK FOR EVERY QUESTION!




Perimeter of a rectangle

o Work out the perimeter of each rectangle.

a) 1em

ten

a 7cm b) act
) (m]iI s
——

Everyone must get
to number four so
we can reason it
together.

b 4cm d) 2 km

o Tommy is working out the perimeter of some rectangles.

8 cm
Bem+5em=13cm
e 13emx2=26cm

Perimeter of a rectangle ;“' '
/

o 4 cm d) 2 km

- L
all
° Tommy is working out the perimeter of some rectangles.

Bem+5cm=13cm
13 emx2=26em

Use Tommy's method to find the perimeter of
these rectangles.

5 cm 10 cm

@) b)
4CMIC| 5:m[-

Y
S

Reason: 2, 4

RR: 4

g ° Each lolly stick is 8 em long.

Find the perimeter of the shape.

o Each of these rectangles has a perimeter of 24 cm.
‘Work out the missing lengths and label the diograms.

) 10 cm a

Rt

"o

What do you notice?
Find any other rectangles that have the same perimeter.

5cm
P

[Hem

@




1cm

1ch» |

4cm

Scﬁ




2cm

6cm

WE DO

—




Lal _.;zr.in@
Lom
2) 24
3) L) m
3.aom
3.cm

YOU DO

)




9 1
Perimeter of a rectangle P
- |
[ o e
0 Work out the perimeter of each rectangle
" 1m P Answers

a) b)

e — AL o

7em 3¢“‘\

L LPFSN o PSS

° Tommy is working out the perimeter of some rectangles. ° Each lolly stick is 8 cm long.

8cm Find the perimeter of the shape.
—
5cm 8cm+5cm=13cm
- 13emx2=26cm

Use Tommy's method to find the perimeter of

these rectangles.
a
d 5cm e Each of these rectangles has a perimeter of 24 cm.
Work out the missing lengths and label the diagrams.
4cm
a) a
10 cm

b) 10 cm b

%

5cm

Bl
What do you notice?
Find any other rectangles that have the some perimeter. @




Year 5 radical reasoning

Each lolly stick is 8 cm long.

Find the perimeter of the shape.

Work it out: Q\

A

~/

Key Vocabulary:

Explain: How did | do it and how
did | know what to do?

~N



7 cm

2 cm

Create instructions to calculate
the perimeter.
Ls there .more that one w.oy?
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7/ 6cm

L] 4 cm

L] 7 cm

5cm
3cm

l1cm
‘\\ 7cm+6cm+4cm+5cm+3cm+1cm 26
t '/

1P you correctly answered all of the mega

challenge question, mowve on to the class

_questions.

If you did not answer all the mega challenge

,oof.rzowé /sba,g Muﬂ'\. me ,to ,Lea.rn more.

| Clacs -
| ,q,uezs.twm 7)) .nmt A,U,dz' S
REASON AND PEER MARK FOR EVERY QUESTIONI




Perimeter of rectilinear shapes

o The length of each square on the grid is 1 cm. @ work out the perimeter of each shape. =
Work out the perimeter of the shapes. a) b) 12 cm ,
) 6 — b= 0 2
; o]
9em Sem
—
4.cm

° Mo puts two S cm by 3 cm rectangles next to each other.

5cm 5em

— The perimeter of -
s 3 m\] ‘each small rectangle is 16 cm,
€ Work out the perimeter of the shape. &+ 50 the perimeter of my -
larger rectangle must be
5cm o 2% 16 cm = 32 em.
8am) a) is Mo correct?
g me Work aut the perimeter of the larger rectangle to check
your answer.

° @) Work out the missing lengths.

eter of rectilinear shapes

I White
b) What is the perimeter i ~
of the shape? /
@ work out the perimeter of each shape. © oo thinks there isn't enough information to work out the g
perimeter of the shape.

o b) 12.cm
13 . % ""I 12em
——
9em o
2cm
—
Zicm) 10 em
Zam
© Mo puts two 5 cm by 3 cm rectangles next to each other.
Is Dani correct?

S5cm 5cm

[
a) Is Mo correct? o

Work out the perimeter of the larger rectangle to check

The perimeter of Explain your answer.
‘each small rectangle is 16 cm,
so the perimeter of my
larger rectangle must be
2x 16 cm = 32 cm.

C O

@ A rectangular flower bed is 5 m long and 3 m wide.
The path oround the flower bed is 1 m wide

your answer. ﬁ
b) Mo puts the rectangles together in different ways.

Wark out the perimeter of each large shape. e

5cm 3cm
3cm e ) What is the perimeter of the flower bed?
e b) What is the perimeter of the outside of the path?

—— 2 :m[
S5cm
=
5cm

© White Rose Moths 20




ANSWERS

o @) Work out the missing lengths ond label them on
the diagrom,

Perimeter of rectilinear shapes

@ e tengih of each square on the grid is 1 am.
Work out the perimeter of the shapes.

a) T b

—_—t
acm

b) Whot is the perimeter of the shape?

] F—.
@ Work out the perimeter of the shape. © Mo puts wo 5 am by 3 cm rectangles next to each other. @ oani thinks there isn't enough information to work out the g
10 5em 5.m perimeter of the shape.
—_— 12em
3em
5em
8em The perimeter of
"each small rectangle is 16 em, 10 cm

so the perimeter of my
larger rectangle must be

2x 16 em = 32 em. Is Dani correct? Mo

@ Explain your answer. @

a) Is Mo correct? b

Work out the perimeter of the larger rectangle to check @~ rectongulor flower bed is 5 m long and 3 m wide. g
your answer. The path oround the flower bed is 1 m wide.

b) Mo puts the rectangles together in different ways. ’5,3
‘Work out the perimeter of each large shape. *

3em

5cm
—_— P
3em a) What is the perimeter of the flower bed?
5em
3em
—_— 3em
5em

b) What is the perimeter of the outside of the path?
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1cm

1ch

5cm

2cm

3cm

3cm

2cm

5cm

2cm+3cm+ 3em+2cm +5cm+ 5ecm= 20cn

i |

oL

Ore

1DO

e

'agve
ctang




(02100 4 02:50)

6cm

4 cm

5cm
3cm

1cm

7ecm+eecm+4cm+5ecm+3cm+1cm=26cm
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5m

6cm

10 cm

14 cm
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Have a think m

9cm
10 cm
3cm

4 cm




Plenary

Mo puts two 5 cm by 3 cm rectangles next to each other.

‘Scm::Sr.m:

S
©

M.o is not correct.

Why not?

The perimeter of
each small rectangle is 16 cm,
so the perimeter of my
larger rectangle must be
2x 16 cm =32 cm




Lesson 5
W,

sl L]

centimetre (cm)

millimetre (mm)
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Perimeter is the b

length .around

™~

closed 2Dﬁh@i%
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[f o eorrectly aneworod all of the mega

challenge question, .mowve on to the class L

Questions. 1

If you did not answer all the mega challenge

correctly, stay with me to learn more. _
| Class questions - see next slide! o

REASON AND PEER MARK FOR EVERY QUESTION!‘




White

Calculate perimeter ! o Calculote the perimeter of these shapes.

a) 8cm
—b
]cm‘- g
w— ]
8om
1em

5 . Reason: 2, 5,
" 15 o 18

EEEaEzl ‘\ 6, 7
EREN =

© cocuiote the perimeter of each shape

13

[ ]

i @ vwork out the missing lengths on these shapes. @) o thinks that there is not enough information to calculate the
— A W perimeter of the shape.
o
L IE a9 —_— Is he correct? How do you know? @
Zem 17 em
6em D ) Is m
Scm
A [
. A e E—
(e [Jom 2en]
3
4em on
|:| 7em
Discuss with @ partner how you worked them out. @
e Calculate the perimeter of these shapes. o Rosie is making shapes made up of 3 rectangles. @

a Each rectangle hes a length of 10 cm and @ width of 4 cm.

b)
She makes these 2 shapes.
10em 9.2 em 9.2 cm
4.cm A
2 em
I 35em 35em

@) Which shape has the greatest perimeter?
k) What other shopes can you make with 3 rectangles? @

l:’ \:I What is the perimeter of the shapes?




Calculate perimeter o Calculate the perimeter of these shapes.

a 8cm
—_—
’ ““I - Is -
-
° Caleulate the perimeter of each shope. Bam A N S WE R S
1em 1em b)
— —
a) |18 @ 18
H [k on
o Work out the missing lengths on these shapes. ° Mo thinks that there is not enough information to calculote the
perimeter of the shape.
10'cm, Is he correct? How do you know? @

17 ¢cm

— N, 51
7em The poruvgresr i3 S8em
Discuss with a partner how you worked them out. @
o Calculate the perimeter of these shapes. o Rosie is making shapes made up of 3 rectangles. OJ
a) b) Each rectangle has a length of 10 ¢m and a width of 4 em.

She makes these 2 shapes.

@) Which shape has the greatest perimeter? ‘L
b) What other shapes con you make with 3 rectangles? @
‘What is the perimeter of the shapes?




Plenary

Calculate periny rer

frue or Fafhse ?

To calculate the perimeter of a compound
shape, just add all of the lengths given.



Recap Session (20.mins)
Measwrement - .cm, .m

The key thing to remember w.ith
measurements is that:

lm = 100 .am

/3



Recap Session (20mins) 2/3
Measwrements

-‘ 310 cm | 3 mand 10 cm

320 cm m and cm
ED)
(You o)

Remember: Lm = 100.cm
therefore 2m = 200.cm
and 500em = 5 aom



3/3

How long will it take you to find the pairs?

Recap Session (20.mins) Ke}
Measwrements




Recap Session (20.mins) 1/2
Measwrements- .mun to .cm

When wsing millimetres .and centimetres to
measure length, you need to know this:

[0mum = lcm

therefore 20mm = 2 com

and 50ecm = 5 mumn



Recap Session (20mins)
Measuwrements - .mm .and .cm

Complete the bar models. -

c

cm mm 30 cm 1T mm

cm mm 30 cm 10 mm




Recap Session (20.mins)
Measwrements

8 M.atch the mm .and com

33

20cm Tmm
21cm
12cm
2cm
1cm

1T17cm 2mm

10cm 2 mm

20cm
2cm Tmm
2CmM 2mm



